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Algebra I — Unit 9: Topic 3 — Solving Quadratics by Factoring i q

Practice - Solving Quadratics by Factoring PP 630-635
Name

Date \ Ferlod
Solve the equations below by factorin @
%1.

(3x - 2)(4x 3)=0 g&fa

see D

2. 4x? —6x +9=06x

3. x*=8x-16 4, 12x* —1=—-x

5 x'+2x=15 6. 2xt=-4-6x

Given the roots find the quadratic equation.
7. x:{-3,7} .
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Algebra I — Unit 9: Topic 3 — Solving Quadratics by Factoring

9. Which eguation best represents the graph shown?

A (x-(x+D)=y i
B (x+(x+l)=y T
C (x+2)x-1=y T
D (x-2x-1)=y T

11. The area of a rectangular floor is described by the eg uationere wis the width of the floor in

meters. What is the width of the floor?

ad without using their hands. Once the beanbag
here fis the height in feet above the
& beanbag to reach the ground.

12. A group of friends try to keep a beanbag from touy
has been kicked, its height can be modeled#
ground and £is the time in seconds. Find the ™

13. The length of a rectangle is 3 cm more than the width. The area is 70 square centimeters. Find the dimensions
of the rectangle.
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